Date:	Sign:	Approved by	Remarks:	10.	9.	8.	7.	6.	5.	4.	3.	2.	1.	Sl. No.	WO date	WO no.	Block no.	Project/site	Company
X	2000	and political											A-Block	Unit/floor no	NA	NA	A-Block	Nilgiri Heights	Modi Rea
3 8 2001	Nov /	Approved by project with the BY									Flat no - A- 202, 307, 309, 405, 407	Dust shifting for flooring	Floor chipping	Details of work				ights	Modi Realty Pocharam LLP
Date: Date:	Sign:	Approved by QS team									07, 309, 405, 407.	ooring			Contractor bill no.	Work done to date	Work done from date	Nature of work	Name of contractor
		1			7125	Qty		22/07/24	11/07/24	Scattolding	K.Krishna								
												Sft	Sft	Units					
Date:	Sign:	Approved by Director/E&D team										LFT114	CL110	Rate ID	GST bill required?	WO issued?	M-codex bill ID.	Dt. site bills reg.	Sl. No. site bills reg.
and and and a		TOT/EQD team	一月のブル	Total								2.65	3.00	Rate	No	NA			431
chimate sheets only if				40,566								19,193	21,375	Amount					

Notes: 1. Ihis sneet replaces installation be the contraction of contractions approval is required. 6. For bill amount less than 10k any QS team member may sign and in place of circular required i.e., details canno be entered above. 5. For bill amount greater than 10k QS manager and directors approval is required. 6. For bill amount less than 10k any QS team member may sign and in place of circular required i.e., details canno be entered above. 5. For bill amount greater than 10k QS manager and directors approval is required. 6. For bill amount less than 10k any QS team member to be entered above. 5. For bill amount less than 10k any QS team member may sign and in place of circular required i.e., details canno be entered above. 5. For bill amount less than 10k any QS team member may sign and in place of circular required. 6. For bill amount less than 10k any QS team member may sign and in place of circular required. 6. For bill amount less than 10k any QS team member may sign and in place of circular required. 6. For bill amount less than 10k any QS team member may sign and in place of circular required. 6. For bill amount less than 10k any QS team member may sign and in place of circular required. 6. For bill amount less than 10k any QS team member may sign and in place of circular required. 6. For bill amount less than 10k any QS team member may sign and in place of circular required. 6. For bill amount less than 10k any QS team member may sign and in place of circular required. 6. For bill amount less than 10k any QS team member may sign and in place of circular required. 6. For bill amount less than 10k any QS team member may sign and circular required. 6. For bill amount less than 10k any QS team member may sign and circular required. 6. For bill amount less than 10k any QS team member may sign and circular required. 6. For bill amount less than 10k any QS team member may sign and circular required. 6. For bill amount less than 10k QS team member may sign and circular required. 6. For bill amount grant req

sent by courier).

## Bill for Equipment Allowance

K.Krishna, Mallapur,Malkagiri Hyderabad.

Date: 03.08.2024.

In favor of:
Project / Site:
Project / Site:
Pocharam.
Type of Work:
Scaffolding Works.
Allowance for Equipment
Amards:
Allowance for Equipment

JunomA	Description	.oN S
	Brief description of work done: Towards Completion of	.I
Fs. 16,226/-	- A ni garitool Troi gaistifing sand Das gaiggid Tool	
	205, 307, 309, 405, 405, 407	
	$-\sqrt{36}$ ,04 = tanomA latoT	
	Work done from date 10.07.2024 to 02.08.2024	

Amount in words: Sixteen Thousand Two Hundred and Twenty Six Rupees Only.

Sign:

## **Bill for Consumables**

K.Krishna, Mallapur,Malkagiri Hyderabad.

Date: 03.08.2024

In favor of:

MRPLLP.

**Project / Site:** 

Nilgiri Heights.

Location:

Pocharam.

Type of Work:

Scaffolding Work.

**Towards:** 

Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done: Towards Completion of	
	Floor Chipping and Dust Shifting for Flooring in A -	Rs. 8,114/-
	202, 307, 309, 405, 407	· - <b>,</b>
	Total Amount = $40,566$ /-	
	Work done from date 10.07.2024 to 02.08.2024	

Amount in words: Eight Thousand One Hundred and Fourteen Rupees Only.

Sign:	
S.B.II.	

## Bill for Labour Charges

## K.Krishna, Mallapur,Malkagiri Hyderabad.

Date: 03.08.2024.

In favor of:

MRPLLP.

Project / Site:

Nilgiri Heights.

Location:

Pocharam.

Type of Work:

Scaffolding Works.

**Towards:** 

Labour Charges

S No. Description	Amount
1. Brief description of work done: Towards Completion of Floor Chipping and Dust Shifting for Flooring in A - 202, 307, 309, 405, 407  Total Amount = 40,566/- Work done from date 10.07.2024 to 02.08.2024	Rs. 16,226/-

Amount in words: Sixteen Thousand Two Hundred and Twenty Six Rupees Only.

Sign:	
-------	--

V

				= 2.85/-	Dust Lift charges Rs. 0.20 per floor. For 4th Floor $-2.25 + 0.60 = 2.85$ /	3. Dust Lift charges Rs. 0.20 per
				= 2.65/-	2. Dust Lift charges Rs. 0.20 per floor. For 3rd Floor - $2.25 + 0.40 = 2.65$ /-	2. Dust Lift charges Rs. 0.20 per
				= 2.45/-	r floor. For 2nd Floor - $2.25 + 0.20$	Note: - 1. Dust Lift charges Rs. 0.20 per floor. For 2nd Floor - 2.25 + 0.20 = 2,45/-
					Hulling and sixty six rupees omy	Amount in words :- rorly ribonsand rive riddied and sixty six rupees Omy
					Hinda da Sinta Sin Danas Only	Annual Foat: Thomas Eine
40566				Total Amount		
	4133	2.85	Sft	1450	Flat No - A - 407	
	4133	2.85	Sft	1450	Flat No - A - 405	
	3776	2.65	Sft	1425	Flat No - A - 309	
	3843	2.65	Sft	1450	Flat No - A - 307	
	3308	2.45	Sft	1350	Flat No - A - 202	2 Dust Shifting for Flooring
	4330	U	116	1430	Flat No - A - 40 /	
	4350	. w	Sft	1450	Flat No - A - 405	
	4275	3	Sft	1425	Flat No - A - 309	
	4350	3	Sft	1450	Flat No - A - 307	
	4050	3	Sft	1350	Flat No - A - 202	1 Floor Chipping
					oring in A - 202, 307, 309, 405, 407	Floor Chipping and Dust Shifting for Flooring in A - 202, 307, 309, 405, 407
Grand Total	Amount	Rate	Units	Quantity	Item Description	S.No. Item Head
					03-08-2024	Date:
					K.Krishna	Contractor Name:
		, 309, 405, 407	202, 307, 30		Floor Chipping and Dust Shifting for Flooring in A -	Work Description:
					Nilgiri Heights	Project:
		Vijay Raj		Prepared by:	MRPLLP	Company Name:
						ESTIMATE SHEET

		2					_		S.No		Date:	Contractor Name:	Work Description:	Project:	ompany Name:	ASUR
		Dust Shifting for Flooring					Floor Chipping	Floor Chipping and Dust Shifting for Flooring in A - 202, 307, 309, 405, 407	Item Head			Name:	eription:		Name:	ASUREMENT SHEET
Flat No - A - 309	Flat No - A - 307	Flat No - A - 202	Flat No - A - 407	Flat No - A - 405	Flat No - A - 309	Flat No - A - 307	Flat No - A - 202	ooring in A - 202, 307, 309, 4	Item Description		03-08-2024	K.Krishna	Floor Chipping and Dust Shifting for Flooring in A - 202	Nilgiri Heights	MRPLLP	
1,425	1,450	1,350	1,450	1,450	1,425	1,450	1,350	05, 407	Length	А			hifting for Floor		Prepared by:	
1	1	1	1	1	1	-	1		Width	В			ring in A - í			
1	1	1	_	1	1	1	1		Height	С			202, 307, 30		Vijay Raj	
1	1	1	-	1	1	1	1		No's				, 307, 309, 405, 407			
1,425	1,450	1,350	1,450	1,450	1,425	1,450	1,350		Quantity							
Sft	Sft	Sft	Sft		Sft				Units							
1,425	1,450	1,350	1,450	1,450	1,425	1,450	1,350		Total Head							